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R z 6&E |21 FE | BFE [ B-A|CE |Thps
A B C A B
1 #  Uw  #& A = C+E+F 996,368 1,018,457 1,026,599 2.2 0.8 1.3
(1) #& % UL 28 B = C+E 991,445 1,007,439 1,026,092 1.6 1.9 1.3
7 BEERE C 984,255 999,687 1,018,388 1.6 1.9 1.2
;eI A 975,219 990,774 1,008,637 1.6 1.8 1.2
ZHEIENE D —— —— S
14 BFEHNRE E 7,190 7,752 7,704 7.8 A 06 18.8
2 % 5 & F 4,923 11,018 507 1238 A 954 97.2
BINED S EMMEEEAS 1,478 1,624 1,258 9.9 A 225 ——
2 % EZ A G = I+K+L 1,041,915 973,416 974,329 A 6.6 0.1 0.6
MBEEER H=IK 978,430 973,416 974,329 A 05 0.1 0.6
7 EEER | 959,601 956,167 958,550 A 04 0.2 0.8
FmEXNE 45,654 47,383 41,117 3.8 A132] A63
& # % 4,585 4,692 5,867 2.3 250 A 21
E A 61,085 59,469 61,248 A 26 3.0 22.1
ZEIEER J —— —— ——
14 BEENER K 18,829 17,249 15,779 A 84 A 85 A68
TEEFR 17,324 16,185 15,015 A 6.6 A72] A6
2 A Ex L 63,485 i - -
WERDS bHEKSE 719,735 724,399 736,973 0.6 1.7 0.9
3 M B *= A-G A 45547 45,041 52,270 198.9 16.0 23.6
M #EEE BH 13,015 34,023 51,763 161.4 52.1 23.4
#EE KX A 27,151 22,240 5,648 A 18.1 A 746 A 152
EEER (CD)-U-J) 24,654 43,520 59,838 76.5 375 9.9
4 ZERE S 304,080 303,281 301,676 A 0.3 A 05 9.0
18& AH IR A —— —— ——
M & ¥ (& —— —— ——
(2) HhEEtHEAE —— —— ——
2 EARAM X H 56,085 56,385 58,879 0.5 44 7.0
(1) BRHEE 13,293 12,455 13,779 A 6.3 10.6 41.7
(2) TEEEES 42,792 43,930 45,100 2.7 2.7 2.7
1 FEEHKE —— —— ——
2 PEBRES 624,244 580,313 535,213 A 70 A8 A65
3 REHE 1,053,499 982,929 992,173 A 6.7 0.9 1.3
135 X % 7 7 7
BRODEEH ——
REBLXEELE-SEY 3 3 2 A1
RERIBEEEETOEEHN 5 4 4 Al 5.9
TREBZEITLEEN ——
1 #BIRZ 95.6 104.6 105.4 9.0 0.8 0.7
2 BEINEZLEER 101.3 103.5 105.3 2.2 1.8 0.7
3 HEEREKREFLE ——
4 BIEEENRAERLE 65.8 57.4 57.4 A 84 A 27

GE) MEE#EX (A) I

_38_

MEERAEZELLERBICKEIT IEXROFRFEEGH LD,




